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Ay (i) it v w sfrad ¥y
(i) T o & o wva ¥ arrd vEa &

aurs-A
(Section-A) (1 Mark cach)

. a2l R—R(x)=x'-3IA r‘(24)anmirmftfmn
If7: R — R. f(x) = x* - 3, then find the value of ' (24).

2. . 7 wifawi (Find value)
Sec? (tan-'2) + cosec?(cot™!'3)

3-2
X ﬂ&A:[4_2}ﬁmA2=m_zlzﬂa‘t K # "R I Hifa)

3-2
Find A = [4 _2] and A? = KA - 21, then find K.

-16-6

1 -4
/uﬁ=[3_2] x=[ . z}ﬂﬁxmmmml

1 4 -16 -6
If = 32 X = 7 2 find matnx X.

y Jlog(2x).dx T Ffe
Find flog(2r).dx

FI3.
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6. URM (I -2j+ k) MERD (3465 - 28w Wiy
- : - ™ ¥
Find the projtt:l of vector ‘4[_21_‘_*-) on W"l
- ‘h
(31 +6j—2K) T Ve,
/ urt T W i jk)+{j K i)+(ki]]
Find thevalue of [ijk]+[jki]+[kij)

I-S__}'+4 T~6

. ey
}/Wmmmﬂumﬁm 3 - > mi.,mh
wEtFTo Fa HfAq Wiy
xX—5
If cartisein equation of a line is: 3 =_J_"_‘f_‘_‘_= 2o
7 B
2 '“‘tn

find s vector cquation)
/ Find the angel between the following two plapes.

F(2i-j+h)y=4 and r(=i-j+k)=3
mmﬁz}:mmmaﬁm.
10 ﬂfﬂ:\ﬂlﬂBﬂmmmﬂﬁampu\):'z).z.pm

@a P(AUB) T FIRTT
If A and B arc two mutually exclusive eventsand P(A)

)= 0y

p(B)= 0.5 then find P(AUB). =02
Quz-q
(Section-B) (2 Mark each)

11 aﬁA:ll.2-3-4]B=l3'5'7'9l'c=”'23'47'79“!11[;
A— B, F(x) = 2x + 1, g:B—C. 8(0) = x* =2 (gof)™ % 3y
gm‘f%'!ﬂffﬁlf@al
fA=(1.234B= (3, 5.7.9). C=1(7.23,47,79) apq

f:A— B F(x) = 2c + 1. g:B—C, glx) = =2 (gofy! &

“ordered pair.
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(3)
21 2|la
| (IN[ad 1) 10 214 = 0 ™ a F 94 (Find value of a)
j/aﬁ 0241 .
w . []
X sm(—} x20
13. f(x): X
x=0

m T 7% TR A Ffg forwd fa f(x); x = 0 W wad ¥
Find the valuc of m so function f(x) become continues at x =0

Jianx dx

|3 Find Isinxcosx

15. qfe A gt wfcll 5 am ;& gw w w0 ¥, 71 fag Wi, fF

sin(g ]= %l&—!;l

If is angle between two unit vectors g and f; then pare that

sin[%): %I& -Sl

QUuE-H
(Scction-C) (3 Mark each)

‘%& |an".r+mn"y+lnn" =§ @« faz zﬁﬁq_t), +y14 =]

-1 -1 -1 b
tan x+tlan y+tan "T=-— ' -
If y 3 then pare that xy + yz + 20 = .

IA9qUOR
'Hlfl'ﬂ?ms‘n"xt' =L . 3
i sin”’ 2x 3Hﬁm$ﬁﬁq|

Solve the equation : sin™ x+sin™ 2r =2
3

1208
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1 l+c a b .

| 1+b 1 =abc[1+_l_+_l_+|)

Wﬁgﬂmaﬁq “ﬁmtulﬁ'ﬂﬁTQmmw__

. o determinate solve the following gy,
}'/9,-11-‘““5 5"'4)'=7:x+3y=9 ’ ¢m of cquates :

mﬁmmﬁmmmmwh

. Is in which funct; : .
i find the interva . Hnctions increasing ang decrising.
F(x)=2x -3;2—361_,_7

b
P Y a fag W Hifog i .
ﬂa;%:‘_+.£5— | T FilG| WM*@I(,)I_W#

20
a (i) y-3& & WHIR http://www.rbseonline.com

2 2

he points on the curve L
4 24

Fin 251 al “'hi"‘_‘ tangents are

0 parallcl to x-axis (1) parallel to y-axis,

I _ﬁmaﬁﬁq(Find) :

I sin x
sin(x —a)

OR

jc:o:s(.v:—a)lc'::s‘.(a:--!:o
y/{(h‘.);ﬁ < _\-Sx} R ot &3 1 vt 3 i)
Find arca bounded by wares {(-‘-)‘)“2 s )'51}.
3. J+hl=1 } fat &1 =1 A% 7 Hifor )

Find arca inclosed between |,t|+|).|._.] )
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24. ab.c m:3.4,5uﬁmtmﬂuvﬁ:mmmﬂtﬂtﬂ

A aR R D ;4 fec WA T W
If \hree mutually perpendicular vector of magnitude 3, 4 and
S then find g4+ bec-

3qavVOR
fored wfem ; & fae fag wifa fr—
ax;’+[ax;’+ax;|’.z|a|’
For any vector g prove that :
fo’+|5x}2+ 5"‘*12 ‘2“’,2

%mmm@mmmmaﬁm—
ming

Ry graphical method solve the following linear program

problem for :

Mini z= 8000x + 12000y
Subject 3x+ 4y < 60
x+ 3y S 30

x20y20
Q|Us-q
(Section-D)
aeh m;%mﬁﬁ mmaﬂﬁql

yﬂ%ﬂ 24P = (x=)
Differentiate x".»" = (x—y)°*? with respect 1o X.

(6 Mark each)

27. fag Hif fF—
Jrog(1+cos )ds = mloge (;]

Prove that °
f|og(l +cos.x)dx = K10, G—)

0

25 FaHhd H 1 drx 311
F.93.
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dy 3ny+ .VJ

n-—'-i:

Solve the dilfercntiol equatio 2 -
3aVOR

mwmmmmmaﬂm—

(1477)+(s-e=")2=0

Solve the differential equation :
2 - ey ‘_f!_._,___
(l+y )'l"(.l' ¢ I

29 fag (2,3, A @ '—'-;—'=-§=l;—5 @ z@ T = F IR T
Fforg 1 T @ o g farg A Yan Ft e 30 v 7 ST

Find the coordination of foot of a linc draw from point (2, 3,

4- |- ) _
4) on linc > == §= *-3—1 Also find the distance of the given

point from the given line.

30, 52 TR 71 G vref v A 1 ) g A @ o wan g o &
ﬂﬂﬁﬁﬁvﬁﬁzﬁlﬁmt?ﬁk#qﬂﬁﬁhﬂ@nﬂﬁiﬁtz

%1 T g1 & 4 mfawa 37

A card is lost from a well suffered deck of 52 playing cards
then two cards arc draw and both the draw cards arc of
daimand then what is the probability that lost card is a

Diamand.
IYqUVOR

qmmﬁs%:mﬂﬁ#mﬁm::—%laiwﬂmfmﬁmﬁ?ﬂ
e 5 944 F F9 A FH TF TR VA B wifae -;- ] i )

Probability of hit the target by a person s % then how many

time he fire, so probability of heating a target at least once is

more th 2
en —.
3
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